ORIGO

o [EPPING oI ONED




SENIOR AUTHORS CONTRIBUTING AUTHORS

PROGRAM EDITORS




- Skip Counting by 2 or 5

This piece of ribbon is 2 metres long.

Imagine three of these pieces of ribbon were joined together like this.

What is a quick way to work out the total length without measuring?

You can count in twos: 2, 4, 6.

The total length is 6 metres Jong.

Imagine six pieces of ribbon are joined together.
What is the total length? How do you know?

How many pieces would be joined to make a length of ribbon that is 16 metres long?

How do you know?
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2. Look at the number track above.
Start at 2. Count in steps of 2.
Colour red the numbers you say.

. Complete each sentence.

steps of

steps of

steps of

steps of

! M SIS o -
steps of is 40 . .
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- Adding Jumps of 2 or 5

Imagine you start at 0 and make jumps of 2 along this number line.

What numbers will you land on? How do you know?

0 10
How many jumps will you make 5 steps of 2 is l0.
to reach 10?
+2 +2 +2 +2 +2
< | | | | | I | ] ] ] 1 ]
h | I | | | I | I I I I I I I I I I
0 10

What addition sentence could
you write to match the jumps 2+2+2+2+2=10
that you made?

Lt jumps of 2 is 3jumps of 2 is
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- Describing Equal Groups

Look at these bags of apples.

What do you notice? ~ar ~ar Sl
How many bags are there?

How many apples are in each bag?

How could you work out the total

number of apples without counting

each apple?

You could count in steps of 4. That's 4, 8, 12.
3 bags of 4 apples is 12 apples.

—

I

You covl|d make

How could you arrange these apples
2 bags of 6 apples.

into different equal groups?

I. Write numbers to describe the equal groups.

[ |

bags of is __ boxes of is
C. d.
%% 0199 9P
OO0 0| | C0
~___ bunches of is ~ packs of is
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3 bagsof 2is 2 stacks of 5is

I group of Lk is 5jarsof 5is

groups of




- Adding Equal Groups

Look at these jars of marbles.

oo lod] lod] oo

How many jars do you see? How many marbles in each jar?
How could you work out the total number of marbles?

What addition sentence could you
write to show your thinking?

Imagine there were L4 marbles in each jar.
What would be the total number of marbles? How do you know?

>

groups of i groups of

groups of ' groups of
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groups of is rows of Is

od|

stacks of is

C.

+

tubes of is

3

stacks of 5 is /5
S+5+5=5
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- Describing Arrays

Where are some places that you might
see things arranged in rows?

A row goes across and g

An arrangement in rows with the same column goes up and down

number in each row is called an array.

Look at this array of bugs.

How many rows of bugs are there?
How many bugs are in each row?

What is a number story you could
tell to match the array?

The bugs are marching
in 3 rows. There are
4 bugs in each row.

Imagine another row of four bugs joined the band.

How many rows will there be? How many bugs will be in each row?
How many bugs will there be in total? How do you know?

rows with in each row rows with in each row
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in each row

Ruzrmd Rz
Ruzrmd Rz
Rz Ryppame
Ry Qe

in each row

a. The beetles march in rows of 5.

There are 3 rows.
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b.

porgl i
Pt gl S
Pt gl

in each row

in each row

The ants march in rows of L.
There are L4 rows.
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- Adding Equal Rows

Look at these bugs.
What is this type of arrangement called?

How many rows are there?
How many bugs in each row?

How could you find the total number of bugs?

What number story and addition sentence
could you write?

There are 4 rows with 5 bugs in each row.
Thatis 5+ 5+ 5+ 5 =120,

AL B L PAL VAL
ows R AR AR AR

ladybugs in each row

rOwWs rOwWs

ladybugs in each row ladybugs in each row

+ + = + + =
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- Using the Turnaround Idea with Arrays

Look at these sheets of stamps. O
How would you describe what happened O
to the first array to make the second array? OO

What is the same about the arrays?
What is different?

How could you work out the total number of stamps in each array?

What addition sentences could you write to match?

What is the same about the two sentences? What is different?

Which addition sentence is easier to work with? Why?
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in each row

FoOws

in each row

FOwWs

in each row

YEAR

rows

in each row

FroOws

in each row

rows

in each row



- Combining 2D Shapes

What two shapes do you see?
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- Drawing and Naming 2D Shapes

| am thinking of a 2D shape that
is a quadrilateral. [t has at [east
two sides the same |ength.

What shape could this be? How do you know?

Draw another quadrilateral that matches the clues.

Then draw a shape that does not match.

a triangle with exactly
two sides the same length

216

rectangle with all sides
the same length
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a quadrilateral with two long
sides and two short sides




- Making Designs with Line Symmetry

Follow these steps.

Step | Step 2 Step 3

[ 3

Fold a sheet of paper Fold the paper in half Flip the folded paper
in half and then again and draw a shape over and trace the
draw a line along the on one side like this. shape you see
crease as shown. through the paper.

For Step 3, try placing the folded
paper qgains’r a window.

Unfold the paper. How much of the whole shape
is shown on each side of the mirror line?

|

1

|

t

|

. ¢

|
N
|

|

. . :
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- Describing Flips and Turns

220

Look at this [etter. Follow the steps below.
Draw what you would see.

Step |

Flip the letter up or down.
Is up different to down?

Step 2

Now turn it a quarter-turn clockwise.
Is there another way you could make it look this way?

Step 3
Now flip it to the right.

Start with the shape in Step 3.
Repeat Steps | to 3.
Draw what it will finally look like.
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Flip upside-down

One-half turn clockwise

One-quarter turn anticlockwise

Flip sideways

One-quarter turn clockwise
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- Working with Parts of a Whole (Equal Size)

Flipping a shape is

like seeing it in the 4&
mirror — everything F q
is back-to-front.

N Some computers vse

\ the word 'rotate’.

Rotate means the
same as 'turn’.

Describe how you would move the grey shape so that it exactly covers
its matching orange shape.

If computer access is available download the electronic
support page. Then use the flip and rotate tools in the
software to make the orange shapes

match the purple shapes.
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Flip Flip Flip Flip Flip Flip Flip Flip

Turn Turn Turn Turn Turn Turn Turn Turn
C.

Flip Flip Flip Flip

Turn Turn Turn Turn
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